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Eight people P, Q, R, S, T, U, W and X live in an 

eight story building, but not necessarily in the 

same order. The lowermost floor is numbered 1 

and the floor above it numbered as 2 and so on. 

The topmost floor is numbered 8. W lives 

immediately below P’s floor. P lives on an even-

numbered floor but not on the floor numbered 

second or fourth. Only three floors are there 

between P and Q. Only two people live between 

R and T. U lives on a floor above S. There are 

equal numbers of floors between the floors on 

which T and Q live and between the floors on 

which P and T live. X lives immediately below 

S’s floor. 

आठ व्यक्ति P, Q, R, S, T, U, W और X एक आठ

मंक्तिला इमारत में रहते हैं, लेक्तकन िरूरी नहीं क्तक इसी 

क्रम में हों। सबसे क्तनचली मंक्तिल की संख्या 1 ह ैऔर 

उसके ऊपर की मंक्तिल की संख्या 2 और इसी तरह आगे 

भी। सबसे ऊपरी मंक्तिल की संख्या 8 ह।ै W, P के तल 

के ठीक नीचे रहता ह।ै P एक सम संख्या वाली मंक्तिल 

पर रहता ह ैलेक्तकन दसूरी या चौथी मंक्तिल पर नहीं रहता 

ह।ै P और Q के बीच केवल तीन मंक्तिल हैं। R और T 

के बीच केवल दो लोग रहते हैं। U, S के ऊपर एक 

मंक्तिल पर रहता ह।ै T और Q क्तिस मंक्तिल पर रहते हैं 

और क्तिस मंक्तिल पर P और T रहते हैं। X, S के तल के 

ठीक नीचे रहता ह।ै



IBPS / BANK / LIC / SBI at 9:00 AM

Eight people P, Q, R, S, T, U, W and X live in an 

eight story building, but not necessarily in the 

same order. The lowermost floor is numbered 1 

and the floor above it numbered as 2 and so on. 

The topmost floor is numbered 8. W lives 

immediately below P’s floor. P lives on an even-

numbered floor but not on the floor numbered 

second or fourth. Only three floors are there 

between P and Q. Only two people live between 

R and T. U lives on a floor above S. There are 

equal numbers of floors between the floors on 

which T and Q live and between the floors on 

which P and T live. X lives immediately below 

S’s floor. 
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N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F 

How many such symbols are there in the above series which is immediately 

followed by a consonant and immediately preceded by vowel? 

उपरोि शं्रखला में ऐसे क्तकतने प्रतीक हैं क्तिनके ठीक बाद एक व्यंिन और ठीक पहले स्वर ह?ै

1. Two 

2. Three 

3. One 

4. Four 

5. None of these
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N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F 

If we remove all the symbols from the above series then which 
among the following alphabet is the 9th from the right end? 
यक्तद हम उपरोि श्ररंखला से सभी प्रतीकों को हटा दें तो क्तनम्नक्तलक्तखत में से कौन सा अक्षर दायें 

छोर से 9वां ह?ै

1. R 2. Q 3. D 4. A 5. None of these
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N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F 

Which among the following elements is 5th to the left of 10th 
from the right end of the series? 
क्तनम्नक्तलक्तखत में से कौन सा तत्व श्ररंखला के दाएं छोर से 10th के बाएं से पांचवां तत्व ह?ै

1. T 2. A 3. & 4. * 5. None of these
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N T * I A ^ $ J # B * B U A R Q D & L O @ P T ! F 

How many such vowels are in the series given each of which is 
immediately followed by symbol and immediately preceded by a 
letter? 
दी गई श्रंखला में ऐसे क्तकतने स्वर हैं क्तिनमें से प्रत्येक के ठीक बाद प्रतीक और ठीक 

पहले एक अक्षर ह?ै

1. Two 2. One 3. Three 4. Four 5. Five
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4 3 1 5 7 8 3 1 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7 

How many even numbers are there which are immediately preceded 

by a perfect square? 

ऐसी क्तकतनी सम संख्याएँ हैं क्तिनके ठीक पहले एक परू्ण वगण ह?ै

1. One 

2. Two 

3. Three 

4. Four 

5. More than four
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4 3 1 5 7 8 3 0 6 2 9 7 1 2 1 3 5 2 6 8 6 5 4 3 2 1 3 8 7

How many odd numbers are there which are immediately 
preceded by perfect cube and followed by perfect square? 

ऐसी क्तकतनी क्तवषम संख्याएँ हैं क्तिनके ठीक पहले परू्ण घन और बाद में परू्ण वगण
ह?ै

1. None 

2. One 

3. Two 

4. Three 

5. Four
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Statements : 

A = B ≥ C = D ≥ E = F

Conclusions : 

I.  A ≥ F

II.  A = F
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Statements:

T < S < O = P = J > G > H ≥ A

Conclusions:

I. P > T

II. A < O
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Statements : 

D ≥ N = T > A = M < X, R ≥ Y, 

Conclusions : 

I. A < R

II. D > M 
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Statements : 

T > N < V = L ≤W < K, V = H > I > F

Conclusions :

I. V > F

II. T > H
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Statements: 

X < A ≤ H ≤ B; J = K≤ B

Conclusions:

I. B ≥ J

II. X < K
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In a Certain code SPOT is written as 4 , than find the code for

FARM ?

एक निनित कोड में SPOT का कोड 4 निखा गया है , तो FARM का कोड

क्या होगा ?

(1) 3

(2) 4

(3) 9

(4) 1

(5) None of these
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In a Certain code READ is written as 24 , than find the code for

HEAR ?

एक निनित कोड में READ का कोड 24 निखा गया है , तो HEAR का कोड

क्या होगा ?

(1) 300

(2) 330

(3) 200

(4) 824

(5) None of these
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In a Certain code DOCTOR is written as 289 , than find the code 

for NURSE ?

एक निनित कोड में DOCTOR का कोड 289 निखा गया है , तो NURSE का

कोड क्या होगा ?

(1) 225

(2) 256

(3) 289

(4) 324

(5) None of these
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Statements :

Only a few flutes are drums.

All drums are pianos.

Only a few pianos are Melody.

Conclusions:

I. Some drums are melody.

II. No drums are melody

कथन : 

केवल कुछ बांसरुी ड्रम हैं। 

सभी ड्रम क्तपयानो हैं। 

केवल कुछ क्तपयानो मलेोडी हैं। 

क्तनष्कषण: 

I. कुछ ड्रम मलेोडी हैं। 

II. कोई ड्रम मलेोडी नहीं है
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Statements :

Only a few flutes are drums.

All drums are pianos.

Only a few pianos are Melody.

Conclusions:

I. Some drums are melody.

II. No drums are melody
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Statements :

Only a few tables are blue.

Only a few blue are clever.

All clever is old.

Conclusions :

I. Some tables are clever is a 

possibility.

II.   Some old are tables

कथन : 

केवल कुछ टेबल ब्ल ूहैं. 

केवल कुछ नीले चतरु हैं। 

सभी चतरु वरद्ध हैं। 

क्तनष्कषण : 

I. कुछ टेबल के चालाक होने की 

संभावना ह।ै

II. कुछ ओल्ड टेबल हैं
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Statements :

Only a few tables are blue.

Only a few blue are clever.

All clever is old.

Conclusions :

I. Some tables are clever is a 

possibility.

II.   Some old are tables
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Statements:

Some mango is guava

Some guava is Grapes

Some Grapes is orange 

Conclusions:

I. At least some orange is mango

II. Some Grapes is definitely 

mango

कथन: 

कुछ आम अमरूद हैं 

कुछ अमरूद अगंरू हैं 

कुछ ग्रेप्स ऑरेंि हैं 

क्तनष्कषण: 

I. कम स ेकम कुछ सतंरे आम हैं 

II. कुछ ग्रेप्स क्तनक्तित रूप स ेमैंगो हैं
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Statements:

Some mango is guava

Some guava is Grapes

Some Grapes is orange 

Conclusions:

I. At least some orange is mango

II. Some Grapes is definitely 

mango
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Statements: 

Some roses are pens. 

All pens are pencils. 

Some pencils are markers. 

Conclusions: 

I. some markers are pens. 

II. No marker is pen.

कथन: 

कुछ गलुाब कलम हैं। 

सभी पेन पेंक्तसल हैं। 

कुछ पेंक्तसल माकण र हैं। 

क्तनष्कषण: 

कुछ माकण र पेन हैं। 

कोई माकण र पेन नहीं ह।ै
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Statements: 

Some roses are pens. 

All pens are pencils. 

Some pencils are markers. 

Conclusions: 

I. some markers are pens. 

II. No marker is pen.
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Statement: 

Only a few Cap is Hat 

Only a few Hat is Crown 

All Crown are Throne 

Conclusion: 

I. Some Hat is Throne is a 

possibility 

II. No Throne is Hat

कथन: 

केवल कुछ कैप हटै हैं 

केवल कुछ हटै क्राउन हैं 

सभी क्राउन थ्रोन हैं 

क्तनष्कषण: 

कुछ हटै के थ्रोन होने की सभंावना है

कोई क्तसहंासन टोपी नहीं है
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Statement: 

Only a few Cap is Hat 

Only a few Hat is Crown 

All Crown are Throne 

Conclusion: 

I. Some Hat is Throne is a 

possibility 

II. No Throne is Hat
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Statement: 

Only east is north 

Only a few east is south 

All south is west

Conclusion: 

I. Some north being west is a 

possibility 

II. Some east is north

कथन: 

केवल पवूण उत्तर ह ै

केवल कुछ पवूण दक्तक्षर् हैं

सभी साउथ वेस्ट ह ै

क्तनष्कषण: 

कुछ उत्तर के पक्तिम होने की सभंावना है

कुछ ईस्ट नॉथण है
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Statement: 

Only east is north 

Only a few east is south 

All south is west

Conclusion: 

I. Some north being west is a 

possibility 

II. Some east is north
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Seven people A, B, C, J, P, Q and R are 

sitting around a circular table, facing 

the centre, not necessarily in the same 

order. Person A is sitting exactly in 

between R and J. R is not sitting 

adjacent to C. B is not an immediate 

neighbour of P. Person C is sitting to 

the second right of J and C is sitting 

exactly between B and Q.

सात व्यक्ति A, B, C, J, P, Q और R 

एक वरत्ताकार मेि के चारों ओर कें द्र की

ओर मखु करके बैठे हैं, िरूरी नहीं क्तक 

इसी क्रम में। व्यक्ति A, R और J के ठीक 

बीच में बैठा ह।ै R, C के आस-पास नहीं 

बैठा ह।ै B, P का क्तनकटतम पडोसी नहीं 

ह।ै व्यक्ति C, J के दायें स ेदसूरे स्थान पर

बैठा ह ैऔर C, B और Q के ठीक बीच 

में बैठा ह।ै
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Seven people A, B, C, J, P, Q and R are 

sitting around a circular table, facing 

the centre, not necessarily in the same 

order. Person A is sitting exactly in 

between R and J. R is not sitting 

adjacent to C. B is not an immediate 

neighbour of P. Person C is sitting to 

the second right of J and C is sitting 

exactly between B and Q.
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An uncertain number of persons are sitting in a 

straight line facing north. Three persons sit 

between P and Q. R sits second to the right of P. 

Only three people sit between Q and S. T is 

immediate to the left of P. R sits fifth from the 

right extreme ends of the row. X sits on the 

extreme end of the row. As many people sit 

between R and U as many between U and S. Y 

sits second to the left of V, who is an immediate 

neighbor of Q. Five people sit between S and X. 

As many people sit between S and W as many 

between W and X.

व्यक्तियों की एक अक्तनक्तित संख्या एक सीधी रेखा में 

उत्तर की ओर उन्मखु होकर बैठी ह।ै P और Q के बीच 

तीन व्यक्ति बैठे हैं। R, P के दायें से दसूरे स्थान पर बैठा

ह।ै Q और S के बीच केवल तीन लोग बैठे हैं। T, P के 

ठीक बायें ह।ै R पंक्ति के दायें अंक्ततम छोर से पांचवें स्थान 

पर बैठा ह।ै X पंक्ति के अंक्ततम छोर पर बैठा ह।ै R और U 

के बीच उतने ही लोग बैठे हैं क्तितने U और S के बीच 

बैठे हैं। Y, V के बाएं से दसूरे स्थान पर बैठा ह,ै िो Q का 

क्तनकटतम पडोसी ह।ै S और X के बीच पांच व्यक्ति बैठते

हैं। S और W के मध्य उतने ही व्यक्ति बैठे हैं क्तितने W 

और X के मध्य बैठे हैं।
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An uncertain number of persons are sitting in a straight line facing north. Three persons sit 

between P and Q. R sits second to the right of P. Only three people sit between Q and S. T is 

immediate to the left of P. R sits fifth from the right extreme ends of the row. X sits on the extreme 

end of the row. As many people sit between R and U as many between U and S. Y sits second to 

the left of V, who is an immediate neighbor of Q. Five people sit between S and X. As many 

people sit between S and W as many between W and X.
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Seven persons- K,B,M,N,O,P and Q 

were born in different years – 1969, 

1973, 1978, 1982, 1988, 1990 and 1995 

but not necessarily in the same order. 

The age difference between P and O is 

a perfect cube number. The number of 

persons born after O is same as the 

number of persons born before N. K is 

older than Q. The difference between 

the age of N and B is a prime number. 

Age of each person is calculated on the 

base year 2022. M is two years elder 

than O. B born in 1978.

सात व्यक्ति- K, B, M, N, O, P और Q का

िन्म अलग-अलग वषों - 1969, 1973, 1978, 

1982, 1988, 1990 और 1995 में हुआ था, 

लेक्तकन िरूरी नहीं क्तक इसी क्रम में हों। P और O 

के बीच आय ुका अंतर एक परू्ण घन संख्या ह।ै O 

के बाद पैदा हुए व्यक्तियों की संख्या N से पहले 

पैदा हुए व्यक्तियों की संख्या के समान ह।ै K, Q से

बडा ह।ै N और B की आय ुके बीच का अंतर एक 

अभाज्य संख्या ह।ै प्रत्येक व्यक्ति की आय ुकी 

गर्ना वषण 2022 के आधार पर की िाती ह।ै M, 

O से दो वषण बडा ह।ै B 1978 में पैदा हुआ।
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Seven persons- K,B,M,N,O,P and Q 

were born in different years – 1969, 

1973, 1978, 1982, 1988, 1990 and 1995 

but not necessarily in the same order. 

The age difference between P and O is 

a perfect cube number. The number of 

persons born after O is same as the 

number of persons born before N. K is 

older than Q. The difference between 

the age of N and B is a prime number. 

Age of each person is calculated on the 

base year 2022. M is two years elder 

than O. B born in 1978.
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There are nine persons B, C, D, E, F, G, H, J 

and K are placed one above the another, but 

not necessarily in the same order. Four 

persons are placed between person E and 

person C and one of them are placed either at 

top or at bottom. Only one person is placed 

between C and F, which placed below the C. 

Three person are placed between G and H. H 

is placed neither just above nor just below C. 

Only one person is placed between H and K. 

Not more than two person are placed below 

the K. Only one person is placed between D 

B, which placed above J. E and K are not 

placed adjacent to each other. Either H or G 

placed at bottom. 

नौ व्यक्ति B, C, D, E, F, G, H, J और K एक के

ऊपर एक रखे गए हैं, लेक्तकन िरूरी नहीं क्तक इसी क्रम में 

हों। व्यक्ति E और व्यक्ति C के बीच चार व्यक्ति रखे गए 

हैं और उनमें से एक या तो ऊपर या नीचे रखे िाते हैं। C 

और F के बीच केवल एक व्यक्ति रखा गया ह,ै िो C के 

नीचे रखा गया ह।ै G और H के बीच तीन व्यक्ति रखे गए 

हैं। H को न तो C के ठीक ऊपर और न ही ठीक नीचे 

रखा गया ह।ै केवल एक व्यक्ति को H और K के बीच 

रखा गया ह।ै दो से अक्तधक नहीं व्यक्तियों को K के नीचे

रखा गया ह।ै D B के मध्य केवल एक व्यक्ति रखा गया 

ह,ै िो J के ऊपर रखा गया ह।ै E और K एक दसूरे के 

आसन्न नहीं रखे गए हैं। या तो H या G को सबसे नीचे 

रखा गया ह।ै
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There are nine persons B, C, D, E, F, G, H, J 

and K are placed one above the another, but 

not necessarily in the same order. Four 

persons are placed between person E and 

person C and one of them are placed either at 

top or at bottom. Only one person is placed 

between C and F, which placed below the C. 

Three person are placed between G and H. H 

is placed neither just above nor just below C. 

Only one person is placed between H and K. 

Not more than two person are placed below 

the K. Only one person is placed between D 

B, which placed above J. E and K are not 

placed adjacent to each other. Either H or G 

placed at bottom. 


